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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]

3500 ! I | I I

| —¢  EcFzExp

3000 4 —>— ECdef

—>— water_ec
2500

2000

1500

1000

Warning: col [ EcFgro’, 'EcPltng'] is missing

500

2 % 2 0 X 2 X X 2

0 25 50 75 100 125 150 175



Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [["I", "lopt’], ['T", "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAl’, ’optEtRate’]
i AN D —smse—— - !
| V e T
AT
A
|
MWV\/\V\A — Lpt
. J M
A A ,"\,ff\/jl — \'\"\'\\
VA - 7 -
A wn ATy
MALERY/ .
| : : E: Al
| ﬂ op
1 " | A% MMM
[WI VY
.
\\/'
A = =
S 4/ MW
WYYV Ry
WY Hy A
/L/_\ — LAl
— \
e \
~ N\
/ N
/ .
- T —
A 1N\ — optEtRat
TEAVE Y N N S UMY TRV Vi e
| \\V/\ VAVM\ AM (!

25

50

75

100

125

150

175




Plot [[ setVI _ETcl’

"setVI _fgRec’,

"setVI_VN',

"s1SetVI' 1]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-7_0
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P3-7

BriE) | GEBAK @) | ERE(EH/AR | EREE (F/R) [ XS ERF

06:05 283 150.0 2.583 |(Z=| FmHAQD6:05 KENFEF (kA{EEIER)
06:45 283 150.0 2.583 (£ =| THHA@06:45 KENFZEF (RAIERIEE)
07:25 283 150.0 2.583 (& =| ThHA@O7:25 KEFEF (RAMEEE)
08:20 283 150.0 2.583 (Z=| FMHAQO8:20 KENFEF (kA{EELEE
09:20 283 150.0 2.583 |(Z=| FhHAQ09:20 kENFEF (RAfEEIER)
10:05 283 150.0 2.583 (Z=| ThHA@10:05 KENFEF CGRAfEEE:E)
10:45 283 150.0 2.583 (Z=| FhHA@10:45 KENIEF CGRAMEEEE)
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Bit] 4528.0 (167%) 2400. 0 32 3KEC: 2080.0, PH: 5.9
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P3-7
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565.0 567.5 570.0 572.5 575.0 577.
m=705,m FV0=0
—o— MW
45.0 -
44.5 -
44.0 -
705 710 715
m=830,m FV0=0
—— MW
46.0 -
45.5 -
45.0 -
830 835 840

40.

39.

39.

38.

38.

37.

44,

44,

43.

43.

45.

45.

44,

46.

46.

45.

45.

m=465, FV0=0
07 - MW
5 -
0 4
5 -
0 4
5 - T T T
465 470 475
m=600,m FV0=0
- MW
5 -
0 4
5 -
0 -
600 605 610
m=735,m FV0=0

—o— MW

ir

7&0 7&5
m=865,n FV0=0

-— MW

865 870 875

42.

41.

41.

40.

40.

45.

44,

44,

43.

46.

45.

45.

44,

46.

46.

45.

m=495, FV0=0
04 —@— MW
5 .
0 .
5 .
0 T T T
495 500 505
m=635,m FV0=0
01 —— MW
5 -
0 .
5 -
655 650 655
m=765,m FV0=0
—— MW
0 .
5 .
0 .
5 .
7é5 750 755
m=900,m FV0=0
—— MW
5 .
0 .
5 .

900 905 910



m=940, FV0=0

47.0 - MW
46.5
46.0
45.5
T T T
940 945 950

m=990, FV0=0
—— MW

46.5
46. 0
45.5 A
45.0 A

T T T

990 995 1000
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100

:00 -
:05 -
:55 -
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:05
:55
:40
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80

- 60

- 40

§_

“

%

%
‘e

X
%

\ R
N N
S
Q\z\ %7\

25

N
%,
X
L e
N

4

2

%

&

£

%,
&

At ’@(26_.?
%

%



P3-7

BfiE) | GEBAK (R | ERE (EAR/H) | ERERE (B/R) | XS EE

06:15 283 150.0 2.583 S| {Rige06:15 Bz (RAERSE)
07:00 283 150. 0 2.583 E BRi&e07:00 Ba1 (RAERRE)
07:45 283 150.0 2.583 F BRi%e07:45 B CGREERE)
09:00 283 150.0 2.583 =l {Ri%@09:00 B (RAAERSE)
10:10 283 150. 0 2.583 F BRige10:10 Bz (CGRAERESE)
11:05 283 150.0 2.583 S {Ri%e11:05 Bz (GRAERSE)
11:55 283 150.0 2.583 = {Rige11:55 B (GRAERSE)
12:40 283 150. 0 2.583 E BRige12:40 Bz CGRAERESE)
13:20 283 150.0 2.583 5| {Ri%e13:20 B3 (RAERSE)
13:55 283 150.0 2.583 = {RRiB013:55 B (RFAKESE)
14:40 283 150. 0 2.583 E BRige14:40 Bz CGRAERESE)
15:30 283 150.0 2.583 5| {Ri%e15:30 B3 (RAERSE)
16:30 283 150.0 2.583 =l RRiB016:30 B (RFAEEE)
23t 3679.0 (13%) 1950. 0 3ZHKEC: 2080.0, PH: 5.6

TERRHERE STRERT (182.0 : 150.0), AAEMAT—M@AE XAHE
BRIASERRIERE150. 0 ml.
T [EKECE (1887.0 vs 4023.0) 15



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-7_0, Day=73 (2025-06-10)

T e e S T
VI, V0, FRV, ET - VI, VO, FVI, EVO, FRV, adjFRV, ET - 3000
2400 400
100 + 1969
1600 587—2000
50 114
| 760 - 1000
40
Warning: lcol [FVI',| "FVO’'] missing
0 + -0
200 § VI —— ME B30.0
FRV maxM
e e s Sy i i P Pl ey wey peu: My M Mo S mew P fmee e Eemes—————— ———————— L 27.5
100 . B 25 0
50 4 14 % § 3 8 8 %R 8 R % R § 8 % L 225
o ININEENNENENE] 00
1
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 optEC0=2600. 0, setECB=2080.0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
o | OPtPHO=6.5, setPHB=5.6 ¢
0.6 -
0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1 - 4000
Bylnit:@D75 01:56: ET=2189 Fg=2550.0 Ro=539.0 t
400 + ] - 3000
|
: - 2000
200 A :
1 - 1000
|
F
01 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 = 4000
HHE HEE HEE Hi HHE HEE HEE Hi HHE HEE ES ES == E3 HEE ES == E3 ES ES == E3 ES ES
B 5 G A B 5 G A B 5 G A B 5 G A B 5 G A B 5 G A
400 + 1 - 3000
ByEt @D73 19:09: ET=2376 Fg=2400.0 Ro=nan .: o
! L 2000
200 A
- 1000
01 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 = 4000
E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES
5 5 5 i 5 5 5 i 5 5 G A B 5 G A B 5 G A B 5 G A
400 + 1 - 3000
ByWoFv :@D75 01:56: ET=1587 Fg=1950.0 Ro=376.0
: - 2000
200 A :
1 - 1000
|
p o -B o \I\\
[ s e e e — E—
1.0 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0
E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES
0.8 4 M8 5 5 i 5 5 5 i 5 5 G A B 5 G A B 5 G A B 5 G A
0.6 -
0.4 1
0.2 A
0.0
1500 4 _ A
[ ] | _obs
1000 + —@— PPFD obs
500 A
0
1
30 A
20
10
1
60
40 RH
[ ] RH_obs
[ ) RHo_obs

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



24.

24.

24,

24.

24,

25.

25.

24.

24.

24.

25.

25.

25.

24.

24.

T T T
600 800 1000

m=570,m FV0=0

—o— M_E

7

5%5 5é0
m=730,n FV0=0

—o— M_E

i
i

7é5 7&0
m=875,n FV0=0

730

-o— M_E

S
i
i

875 880 885

22.

22.

22.

22.

22.

21.

21.

25.

24.

24.

24.

24.

24.

25.

25.

25.

24.

24.

24.

25.

25.

25.

24.

24.

m=445, FV0=0

—o— ME

4%0 455
m=610,n FV0=0

—o— ME

6%5 GéO
m=765,n FV0=0

—o— ME

7%0 7%5
m=915,n FV0=0

765

-o— ME

915 920 925

23.

23.

23.

23.

23.

22.

25.

24.

24,

24.

24,

25.

25.

25.

24.

24.

25.

25.

24.

24.

24.

m=495, FV0=0

—o— ME

560 565
m=655,n FV0=0

495

—o— ME

6é0 6é5
m=800,n FV0=0

—o— ME

865 8%0
m=965,n FV0=0

800

-o— M_E

965 970 975

24.

24

24.

23.

23.

25.

25.

24.

24,

24

25.

25.

25.

24.

24,

25.

24,

24.

24

m=520, FV0=0
—o— ME
4_
2_
0_
8_
6_
520 525 530
m=690,m FV0=0
—o— ME
2_
0_
8_
6_
4_
690 695 700
m=835,m FV0=0
—o— ME
4_
2_
0_
8_
6_
835 840 845
m=1010m FVO=0
—o— ME
0_
8_
6_
4_

1010 1015 1020



m=1040, FV0=0
25.1 — NE
25.0 -
24.9
24. 8 -
24.7
24.6 -
24.5 -
T T T
1040 1045 1050
m=520,m FV0=0
42. 25 - —— MW
42.00 -
41.75 -
41. 50
41. 25 -
41.00 4
T T T
520 525 530
m=690,m FV0=0
—— MW
44.0
43.5 -
43.0 -
42.5
690 695 700
m=835,m FV0=0
—— MW
45.5 -
45.0 -
44.5

840 845

42.

42.

41.

41.

44,

44.

43.

43.

45.

45.

44,

T T T
600 800 1000

m=570,m FV0=0

—o— MW

o

5%5 5é0
m=730,n FV0=0

—o— MW

T

7é5 7AO
m=875,n FV0=0

730

- MW

=
3

875 880 885

39

38

38

37

37

43.

43.

42.

42.

42.

42.

41.

45

44.

44,

43.

46.

45.

45.

44,

m=445, FV0=0
04 —e— wmw
.5
.0
.5
e
445 450 455
m=610,m FV0=0
25 - —— MW
00 -
75
50 -
25 -
00 -
75 B T T T
610 615 620
m=765,m FV0=0
07 —— MW
5 -
O -
5 -
765 750 755
m=915,m FVO=0
07 —— MW
5 -
0 -
5 -

920 925

41.

40.

40.

39.

39.

43.

43.

42.

42.

45.

45.

44.

44.

46.

45.

45.

44

m=495, FV0=0

M_w

560 565
m=655,n FV0=0

—— MW

GéO 6é5
m=800,n FV0=0

—— MW

865 8%0
m=965,n FV0=0

800

-— MW

965 970 975




m=1010, FVO=0

46. 00

45.75 ~

45. 50 ~

45. 25 A

45. 00 ~

44.75 A

—O—

M_W

T
1010

T
1015

T
1020

46. 2

46.0

45. 8 -

45.6

45. 4

45. 2 -

m=1040, FVO=0

—0—

M_W

T
1040

T
1045

T
1050
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:00 -
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P3-7

BfE) | GEBERTIC (7)) | ERE (EAH/#F) | EREE (B/R) | X8 R

06:30 278 150.0 2.583 FA| {Ri%@06:30 Bzl (kAMEE:E)
07:30 278 150. 0 2.583 | =| {Ri%e07:30 B3I (KREAZBE)
09:25 278 150. 0 2.583 |Z=&| 1BRi&e09:25 Bzh (RAERE)
10:45 278 150. 0 2.583 |Z=| {Ri&e10:45 Bz (GREERSE)
11:45 278 150.0 2.583 | =| {Rige11:45 Bz CGREAEZERE)
13:00 278 150.0 2.583 |/hili| 1Ri&@13:00 B3h (RAERSE)
13:55 278 150.0 2.583 [/\ii| {Ri%@13:55 Bz (RAEHRSE)
14:45 278 150.0 2.583 FR| {Ri%@14:45 Bz CGRAEREE)
15:50 278 150.0 2.583 |Z=| {Ri&e15:50 Bz (REEZEBE)
21t 2502.0 (97%) 1350.0 32803 KEC: 2080.0, PH: 5.6

FEREHERE STEELRF (179.0

ZRIASEPRIEBRE147.0 ml.
J#[ERECE (1897.0 vs 4247.0) 35

147.0), AIEERT—@E XA 5




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-7_0, Day=72 (2025-06-09)

150 A

100 A

50

200 A

150 -

100 -

50 A

2500

1969
1600 617

154

Warning: lcol [FVI',| "FVO’'] missing

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPH0=6. 5, setPHB=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing

]
Bylnit @75 01:56: ET=1611 Fg=1950.0 Ro=389.0

VI, V4RV, ET - VI, V0, FVI, FVO, FRV, adjFRV, ET [ 2000

810 - 2000

T
—_
o
o
o

0

—— —_ ME 430

- 2000

- 1000

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

wolBZ B B | B | B | % | % | % ™ | m | m | ™ | %/ M| m | ™| %% %|%|®%|m]%
ByEt @72 19:09: ET=1570 Fg=1617.0 Ro=nan

- 2000

- 1000

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

w0 lBEI2Z 27| B | B | B | 1B 2283227 272722 0| B 52122822727 27122 % | &

]
ByWon:@D75 01:56: ET=1154 Fg=1350.0 Ro=283.0

i —o—0—0—0
|
|
1

- 2000

- 1000

s lBZB=|B= | B | B |0 | 1 52372718227 2210m| W 2215227182182 27182 % | &

0.6
0.4+

0.2~

1800

1000 ~

—_—
[ ] | _obs
—@— PPFD obs

FRV (ml d-1)

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



22.

24.

24,

24.

24.

23.

24

24.

24.

24.

24.

23.

T T T
600 800 1000

m=585,m FV0=0

400

6_

4 4

2 4

0 -

—0— ME

560 565
m=835,n FV0=0

.8

6 -

4 -

2 4

0_

—0— ME

840 845

44 -

42 -

40 -

38 A

-o— MW

kY
=
it

400 600 800 1000

23.

23.

22.

22.

22.

22.

24.

24,

24.

24.

23.

25.

24.

24,

24.

24

39.

39.

38.

38.

m=375, FV0=0

- ME

3é0 3é5
m=655,n FV0=0

—o— ME

6é0 6é5
m=875,n FV0=0

—o— ME

8é0 8é5
m=375,n FV0=0

875

-— MW

375 380 385

23.

23.

23.

23.

23.

22.

24.

24,

24.

24.

24.

24.

24.

24,

24.

24.

41.

41.

40.

40.

m=420, FV0=0

—o— ME

4é5 450
m=695,n FV0=0

—o— ME

i

T T
700 705

695
m=920,m FV0=0
—&— ME
8 .
6 -
4 .
2 .
0 .
920 925 930
m=420,m FV0=0

- MW

420 425 430

m=470, FV0=0
24.2 — Nt
24.0 -
23.8 -
23.6 -
T T T
470 475 480
m=760,m FV0=0
—o— ME
24.6 -
24. 4 <.—.—C\\(}l—.
24. 2 -
24.0 -
23.8 -
T T T T T
762.5 765.0 767.5 770.0 772.5
m=1000m FVO=0
—o— ME
24. 4
24. 2 -
24.0 -
23.8 -
23.6 -
1000 1005 1010
m=470,m FV0=0
43.0 - - MW
42.8
42.6
42.4
42.2 1
42.0
470 475 480



42.

42.

41.

43.

43.

42.

42.

m=585, FV0=0

—O—

M_W

T
585

590
m=835,n FV0=0

T
595

—o—

M_W

T
835

T
840

845

43.

42.

42.

41.

44,

44,

43.

43.

m=655, FV0=0
—— MW
0_
5_
0_
5_
655 660 665
m=875,m FV0=0
57 —o— MW
0_
5_
0_
875 880 885

43.

43.

42.

44.

44.

43.

43.

m=695, FV0=0
—— MW
5_
0_
5_
695 700 705
m=920,m FV0=0
97 —— N
0_
5_
0_
920 925 930

43.

43.

42.

42.

44,

43.

43.

42.

m=760, FV0=0

51 —e— MW 1._.(‘\\'4._.
0_
5_
0_
T T T T T
762.5 765.0 767.5 770.0 772.5
m=1000m FVO=0
—— MW
0_
5_
0_
5_
T T T
1000 1005 1010
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P3-7

BflE) | GEBRAK @) | ERE(EH/N | EREE (G/R) [ XS R

06:40 278 150.0 2.583 F  BRi%e06:40 BE1 (GRAERSE)
07:20 278 150.0 2.583 S| {Rig@07:20 B (KRAERSE)
08:10 278 150. 0 2.583 E BRi%e08:10 Bz (RAERE)
09:15 278 150.0 2.583 F BRi1%e09:15 Ba1 (GREERSE)
10:05 278 150.0 2.583 =l {Ri%@10:05 B3 (RAAERSE)
10:50 278 150. 0 2.583 F BRi%e10:50 Bz (GRAERERE)
11:35 278 150. 0 2.583 S {Ri%e11:35 Bz (GRAERSE)
12:15 278 150.0 2.583 =l RiBe12:15 Bz (REAKEEE)
12:55 278 150. 0 2.583 E BRige12:55 Bz (GRAERESE)
13:30 278 150.0 2.583 5| {Ri%e13:30 B3 (RAERSE)
14:05 278 150.0 2.583 = RRiB014:05 B (RFAEESE)
14:45 278 150. 0 2.583 E BRige14:45 Bz CGRAERESE)
15:30 278 150. 0 2.583 El 1BRi&e15:30 Bz CGRAEREE)
16:20 278 150.0 2.583 =l RRiB016:20 B (RFAEESE)
17:30 278 150.0 2.583 =l RRiB017:30 Bz (REAEEE)
2it] 4170.0 (15)%) 2250. 0 3203 KEC: 2080.0, PH: 5.6

HERRHEME S TEAERTS (179.0 : 147.0), AIgEMAF—RE XAH45
BRI\ SEPRIERL147.0 ml.
#HEKECE (1927.0 vs 4080.0) 15



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

1

1

2

1

1

1.

3

2

1

400 A1

3

2

1

400 A

3

2

1

1.
0.8
0.6
0.4
0.2 -
0.0
1500 {

1000 ~

500 -

P3-7_0, Day=71 (2025-06-08)

50 A

00 A

50

00 A

50 -

00 -

50 A

VI, VBSRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

2450

660

Warning: lcol [FVI',| "FVO’'] missing

0

Warning: lcol ["WC1',  "WC2'] missing

20

803 2000

optEC0=2600. 0,

setECB=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

- 1000

T
w
o
o
o

FRV (ml d-1)

0
4 30

optPHO0=6. 5,

setPHB=5. 6

Warning: lcol ['PHB’,| 'PHC’'] missing

00 A

00 -

00 -

1
Bylnit:@D75 01:56: ET=2185 Fg=2700.0 Ro=542.0

b o

0 1 2

3

4

5

6

10

11

- 4000
7

- 3000
- 2000

- 1000

cumET (ml/plant)

21

22 23

2000

g | BB | BB

i

[

i

[

i

E3
B

ES
5]

E3
B

E3
B

ES
5]

00 A

00 -

00 -

ByEt @D71 19:08: ET=2232 Fg=2499. 0 Ro=nan

0 1 2

7

10

11

12

13

- 3000

- 2000

- 1000

cumET (ml/plant)

21

22 23

2000

g | BB | BB

[

i

i

BB | B

E3
B

ES
5]

=
B

E3
B

ER

%=

%=

00 A

00 -

00 -

0 1

]
ByWoFyv 1@D75 01:56: ET=1803 Fg=2250.0 Ro=437.0

10

11

12

- 3000

- 2000

- 1000

cumET (ml/plant)

18

19

20

21

22 23

E3
B

ES
5]

=
B

=
B

E3
B

E3
B

ES
5]

=
B

ER

%=

%=

—@— PPFD obs

|
| _obs

80 4

60 -

RH
[ ] RH_obs
[ ) RHo_obs

[ ] Vv

PD




25.

25.

25.

25.

24.

24.

26.

26.

26.

25.

25.

26.

26.

25.

25.

22
460 660 860 10'00
m=555,m FV0=0
67 —o— ME
4_
2_
0_
8_
6_
555 560 565
m=695,m FV0=0
47 —o— ME
2_
0_
8_
6_
665 760 765
m=815,m FV0=0
—o— ME
2_
0_
8_
6_

820 825

22.

22.

22.

22.

22.

21.

26.

25.

25.

25.

25.

26.

26.

26.

25.

25.

26.

26.

25.

25.

25.

m=390, FV0=0

—o— ME

365 460
m=595,n FV0=0

—o— ME

?

660 665
m=725,n FV0=0

—o— ME

750 7é5
m=850,n FV0=0

725

-o— ME

it
i
i

850 855 860

23.

23.

23.

23.

26.

26.
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